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Question Number : 101 Question Id : 21280729436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQ

The problem of sex-selective abortions is due to :

(1) delay in marriage
(2) lack of resources
(3) social attitudes

(4) infertility

Options :

212807117741. 1
212807117742.2
212807117743. 3
212807117744. 4

Question Number : 101 Question Id : 21280729436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

212807117741. 1
212807117742.2
212807117743. 3
212807117744. 4

Question Number : 102 Question Id : 21280729437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The broad objective of National Family Planning Programme :
(1) To increase the rate of population growth
(2) To manage the rate and pattern of population growth
(3) To restrict the use of birth control measures
(4) To introduce coercive measures of mass strerilisation
Options :
212807117745. 1
212807117746. 2

212807117747. 3
212807117748. 4

Question Number : 102 Question Id : 21280729437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) FEeEn giget J gfg we

(2) SEEN giger R 9fqam &1 yEud HE|
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Options :

212807117745. 1
212807117746.2
212807117747. 3
212807117748. 4

Question Number : 103 Question Id : 21280729438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Arrange the f(}iiowing in descending order :

(A) Block

(B) Village

(C) Dastrict

(D) Tehsil

(E) Sub-division

Choose the correct answer from the options given below :

(1) (O, (D), (E), (A), (B)

(2 (©), (B), (D), (A), (B)
(3)  (B) (©), (D) (B), (A)
(4) (A4), (B), () D), (E)

Options :

212807117749. 1
212807117750. 2
212807117751. 3
212807117752. 4

Question Number : 103 Question Id : 21280729438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Frretferfiaa =1 oredidl ®a o safied Hife )
(A) @Ts
(B) e
(©) fsem
(D) e
(E) S99YM

= feu o fasmedi § 9 W@ SO &1 =994 Sifeg |

(1) (©Q), (D), () (A), (B)
(2)  (©), (B), (D) (A), (B)
3) (B (©), (D), (B), (A)
(4)  (A4), (B) (©Q) (D), (E)
Options :

212807117749. 1
212807117750. 2
212807117751. 3
212807117752. 4

Question Number : 104 Question Id : 21280729439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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According to Malthus famines and drought are important to control population growth. They are

called :

(1) Negative checks
(2) Preventive checks
(3) DPositive checks
(4) Geometric checks

Options :

212807117753. 1
212807117754.2
212807117755. 3
212807117756. 4

Question Number : 104 Question Id : 21280729439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

HIeUH o TR JEud AR 31k sHue 9ig &l Faf=a & & fau stawaes g1 3% 31 @l Sl @ 2

(1) hReHER a5
(2) THOeTeRs fEE
(3) HHNHS FE5m
(4) Sl s

Options :

212807117753. 1
212807117754.2
212807117755. 3
212807117756. 4

Question Number : 105 Question Id : 21280729440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Pushkar fair in Rajasthan in an example of :

(1) Goat fair
(2) Horse fair
(3) Camel fair
(4) Cow fair
Options :
212807117757. 1
212807117758. 2

212807117759. 3
212807117760. 4

Question Number : 105 Question Id : 21280729440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) =i Hel

(2) Sl & Ha

(3) S o Ha

(4) AT R HeAl
Options :

212807117757. 1
212807117758.2
212807117759. 3
212807117760. 4

Question Number : 106 Question Id : 21280729441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What is the form of family found in Khasi Society ?

(A) Patriarchal
(B) Matriarchal
(C) Matrilocal
(D) Matrilineal
(

E Patrilocal

R

Choose the correct answer from the options given below :

(1) (B), (©), (D) Only
(2) (A) (©), (D) Only

(
(3) (B), (D), (E) Only
(4)  (©), (D), (E) Only
Options :

212807117761. 1

212807117762. 2

212807117763. 3
212807117764. 4

Question Number : 106 Question Id : 21280729441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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QrE AHS § YfEr &1 hA-91 =8 YR Sl ¢

(A) Tagu<rcas

%9 (B), (C), (D)

(4) e (O), (D), (E)
Options :
212807117761. 1
212807117762. 2
212807117763. 3
212807117764. 4

Question Number : 107 Question Id : 21280729442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Jajmani system is :

(1) Market exchange system

(2) Barter economy

(3) Non-market exchange system
(4) Bonded labour system

Options :

212807117765. 1
212807117766. 2
212807117767. 3
212807117768. 4

Question Number : 107 Question Id : 21280729442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
STSTHIA YOt 301 § 2

(1) =R fafma gomd
(2) =& fafra gore
(3) R-amR fafma
(4) e ST oM
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212807117765. 1
212807117766. 2
212807117767. 3
212807117768. 4

Question Number : 108 Question Id : 21280729443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The concept in List - I with explanation in List - IL

List - I List - IT
Concept Explanation
(A) Matrilineal (
(B) Neolocal (
(C) Patrilocal (
(

Choose the correct answer from the options given below :

(1) (A)-(10), (B)-(T), (O)-(1I), (D)-(IV)
(2)  (A)-IV), (B)-(II), (C)-(D), (D)-(III)
(3)  (A)-(IV), (B)-(IID), (C)-(II), (D)-(T)
(4)  (A)-(D), (B)-(IT), (C)-(IID), (D)-(IV)
Options :

212807117769. 1
212807117770.2
212807117771. 3
212807117772. 4

II) newly married couple sets up a new home
D) Matrilocal (IV) Women inherit property from their mother

I) mnewly married couple stays with wife’s family
II) newly married couple stays with husband’s family
I

Question Number : 108 Question Id : 21280729443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

el - 1 o1 FEt - 11 %1 faam s

el - 1 T - 11
A) s () afgered <afa gl ®i 9 % wRER F @ T T
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= fou T fashedl § 9 TE 3L k1 F4H HifSU |

Tageeien
B IGEIIEED

(1) (A)-D, (B)-(), (O)-(1V), (D)-(1D)
(2)  (A)-(V), (B)-(1), (€)-(1), (D)-(II)
(3)  (A)-AV), (B)(II), (O)-(1), (D)-(D)
(4)  (A)-D, (B)}-(IN), (O)-(I1D), (D)-(IV)
Options :

.
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212807117769. 1
212807117770. 2
212807117771. 3
212807117772. 4

Question Number : 109 Question Id : 21280729444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match the books in List - I with the authors in List - I1.

List - I
Books
(A) Caste today (D)
(B) Caste : It's Modern Avatar (II)
(C) Invisible Man (III)
(D) Sociology (IV) R. Ellison

Choose the correct answer from the options given below :

(1) (A)-(0), (B)-(II), (C)-(1), (D)-(IV)
(2)  (A)-0D), B)-0), (O, (D)-(IV)
(3)  (A)D), (B)}-(ID), (O)-(1D), (D)-(IV)
(4) (A, (B)-(1), (C-(V), (D)-(II)

Options :

212807117773. 1
212807117774.2
212807117775. 3
212807117776. 4

M.N. Srinivas
Anthony Giddens
C.]. Fuller

Question Number : 109 Question Id : 21280729444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

el - 1 &1 Gt - 11 %1 faem s

ﬁ%mmﬁﬁqﬁﬁﬁuﬁsﬁrwaﬂﬂﬁﬁm

(1) (A)-0), (B)-(), (O)-1D), (D)-(IV)
(2)  (A)-(0). (B)-(I), (O)(11D), (D)-(IV)
(3) (A1), (B)-(ID), (O-(1II), (D)-(IV)
(4)  (A)-(1), (B)-(1), (O)-(IV), (D)-(1I)
Options :

TH. 1A, Hifam
et firey
S, B
R, TeA |
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212807117773. 1
212807117774.2
212807117775. 3
212807117776. 4

Question Number : 110 Question Id : 21280729445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Policies that are aimed at persuading or forcing all citizens to adopt a uniform set of cultural
values and norms :

(1) Cosmopolitanist
(2) Pluralist
(3) Assimilationist
(4) Acculturist
Options :
212807117777. 1
212807117778. 2

212807117779. 3
212807117780. 4

Question Number : 110 Question Id : 21280729445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

g el foreret 329 Tt ATt &1 T Fitssfass Tedl ST Ifaami &1 ST % g T =1 Hergl
T, e §

(1) gEfifaerar

(2) gEEr

(3)  ATCHHTEHTOTETS!

(4) TRGEHITURUERE!

Options :

212807117777. 1
212807117778.2
212807117779. 3
212807117780. 4

Question Number : 111 Question Id : 21280729446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Self governance institutions in Urban areas has been provided under which constitutional
amendment ?

(1) 93" Amendment

(2) 74% Amendment

(3) 73'9 Amendment

(4) 64" Amendment

Options :

212807117781. 1

212807117782. 2

212807117783. 3
212807117784. 4

Question Number : 111 Question Id : 21280729446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

vt el § T gl o wayH Ry dfaem ety o fem g2
(1) 93 & |l
(2) 74790 HOEA
(3) 739 HeneA
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Options :

212807117781. 1
212807117782.2
212807117783. 3
212807117784. 4

Question Number : 112 Question Id : 21280729447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the distribution of religious minorities in India in a descending order of population :
(A) Jains
(B) Buddhist

(C) Sikhs
(D) Christians
(E) Muslims

Choose the correct answer from the options given below :

(1) (B), (D), (©), (B), (A)
(2)  (A), (B), (Q) (D), (E)
3) (B (D), (©), (A), (B)
(4) (D) (B), (C) (B), (A)
Options :

212807117785. 1

212807117786. 2 .
212807117787. 3 collegedumas
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212807117788. 4

Question Number : 112 Question Id : 21280729447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

g H a1t AedeTs & faaeor Sl SHEEn & sTalE w9 1§ safed sifeu |

(B) g
(C) faam
(D) &
(E) 9quaHH
= feu Tu fasedi § 9 H& ST &1 999 S |
(1) (E), (D), (C), (B), (A)
(2)  (A), (B), (©), (D), (E)
(3) (E) (D), (©), (A), (B)
(4) (D) (B), (C), (B), (A)
Options :

212807117785. 1
212807117786. 2
212807117787. 3
212807117788. 4

Question Number : 113 Question Id : 21280729448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Civil Society is the name given to the broad area which lies outside the domain of :
(1) Private enterprise

(2) Public enterprise

(3) State and Market

(4) Government

Options :

212807117789. 1
212807117790. 2
212807117791. 3
212807117792. 4

Question Number : 113 Question Id : 21280729448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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ArTRER HHIS i Wl Tk A &% I &, S

(1) sl 3usHH
(2) HTHE IUHA
(3) TS SR ATSIN
(4) THER

Options :

212807117789. 1

212807117790. 2

212807117791. 3
212807117792. 4

& fererr &3 F oTer feod €6 2

Question Number : 114 Question Id : 21280729449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The first society that underwent industrialisation :

(1) Britain
(2) Germany
(3) United States
(4) France
Options :
212807117793. 1
212807117794. 2

212807117795. 3
212807117796. 4

Question Number : 114 Question Id : 21280729449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

a8 YYH FHS ST SN R & SR T
(1) foes

(2) A
(3) HIH TH
(4) Wi
Options :
212807117793. 1
212807117794. 2

212807117795. 3
212807117796. 4

Question Number : 115 Question Id : 21280729450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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The concept of sanskritization has been criticised for the following :
(A) It results in the adoption of upper caste rituals
(B) It erodes dalit culture

(C) Itis different in different places
(D) It restricts women’s mobility
(E) It allows equality and inclusion

Choose the correct answer from the options given below :

(1) (A), (B), (D) Only

(2)  (A), (©), (E) Only
(3) (A), (B), (C) Only
(4)  (A), (D), (E) Only
Options :

212807117797. 1
212807117798. 2
212807117799. 3
212807117800. 4

Question Number : 115 Question Id : 21280729450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Hepfaato &t stauron &t fr=fafaa & fog st ot 7= 2 .
(A) TEF HRU S WG F FHHRUST I WiwR fFan ™1 T

(B) =H¥ gfcid €&l o1 HA B 2 |

(C) TE A3 Tl T S-S YRR h 2 |
(D) =99 Afgansdl 1 STaTRl W gfder+ &l € |

(E) 1€ Tl o q919 k1 fedmrdt 21

= fou o fasedi § 9 W@ W &1 =994 Sifeg |

(1) ae (A), (B), (D)
(2) A (A), (©), E
(3) A (A), (

(4) e (A), (D), (B)
Options :

212807117797. 1

212807117798. 2

212807117799. 3
212807117800. 4

Question Number : 116 Question Id : 21280729451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ
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On whose behalf does ASSOCHAM works ?
(1) Workers
(2) Industrialists
(3) Agricultural labourers
(4) Informal workers
Options :
212807117801 1
212807117802. 2

212807117803. 3
212807117804. 4

Question Number : 116 Question Id : 21280729451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
ASSOCHAM ferden! it 9§ =1 idl &2
(1) MR
(2) ERTIf
(3) Hfuaffs
(4)  STFTIAIE HER
Options :

212807117801. 1
212807117802. 2
212807117803. 3
212807117804. 4

Question Number : 117 Question Id : 21280729452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Match nature of work in List - I with the associated sector in List - II.

List - 1 List - II
Work Sector
(A) Units employing 10 or more people ()  Tertiary sector
(B) Travel Industry () Secondary sector
(C) Agriculture & Mining (IlI) Organised sector
(D) Construction & Manufacturing (IV) Primary sector

Choose the correct answer from the options given below :

(1) (A)-I), (B)-(I), (O)-(1V), (D)-(II)

(2)  (A)-0), (B)-(III), (O-(I), (D)-(IV)
(3)  (A)-(D), (B)-(1N), (O)-(IID), (D)-(IV)
(4)  (A)-(D), (B)-(IV), (O)-(), (D)-(IT)
Options :

212807117805. 1
212807117806. 2 gco“egeduniag
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212807117807. 3
212807117808. 4

Question Number : 117 Question Id : 21280729452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

el - 1% W9 G - 11 e wifs)

ekl - 1 T - 11
(A) 1071 e ART =l TSR () o TR

T el s
(B) 9T S (1) fadra deex
(C) HfW AR I+ (1) fed e
(D) Tafor i fafafo (IV) 9o e

= feu U fawedi © 9 W@ S &1 994 SN

(1) (A)-UD), (B)-(I), (O-(IV), (D)-(I)
(2)  (A)-D), (B)-(I), (O)-(ID), (D)-(IV)
(3)  (A)-(), (B)-(IN), (O)-(II), (D)-(IV)
(4)  (A)-(D), (B)-(IV), (O)-(0), (D)-(1T)
Options :

212807117805. 1
212807117806. 2
212807117807. 3
212807117808. 4

Question Number : 118 Question Id : 21280729453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Who has written the essay “On Liberty”, depicting the struggle for equality and liberty in Europe
and America ?

(1) Abraham Lincoln
(2) Benedict Anderson
(3) Martin Luther King
(4) John Stuart Mill

Options :

212807117809. 1
212807117810.2
212807117811.3
212807117812. 4

Question Number : 118 Question Id : 21280729453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value .
Comprehension MCQ W Collegedunias
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(2) wHfede detdd

(3) =IfeT qer foh

(4) SH R o
Options :

212807117809. 1
212807117810. 2
212807117811.3
212807117812. 4

Question Number : 119 Question Id : 21280729454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following statements that reflect step-wise process of Bidi making :
(A) Villagers pluck tendu leaves and sell it to the forest department

(B) Contractor collects the bidis and sells them to the manufacturer who puts his own brand
label

(C) Government auction leaves to bidi factory owners who give it to the contractor, who suppliers
tobacco and leaves to home based worker’s

(D) Mostly women roll the bidis and tie them with thread in bundles
(E) Distributor receives packed bidis from manufacturers and distributes to the wholesaler
Choose the correct answer from the options given below :

(1) (A, (B), (©), (D). (E)

(2)  (A), (D), (©), (B), (E)
(3)  (A), (O, (D), (B), (E)
(4)  (©), (A), (D), (E), (B)
Options :

212807117813. 1
212807117814.2
212807117815.3
212807117816. 4

Question Number : 119 Question Id : 21280729454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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gt faio &t =Ru-ar gferan 1 29ia 9t frefafaa swrol o sraferd sifew)

(A) TTH 8 TR drgaR 94 faam R S E

(B) SeR sifeal Hufea s fafmiaiet 1 sea € S o1u sive ofed & €1

(C) TR uferar Theredt Tfereni 1 feim Tl § S 38 IheR ol 0 § 37X SR r g iR afal Te-
SN TR d%F 9g=rd 2

(D) sifereriera wfgemd sifeal o & 3R 5% emit @ st nfgal s ¥ )

(B) foaws sifedi =1 fafimmmsii @ @ o =mfeE & dfaafa #2 €)

= fou o famedi § 4 W& SO F TI9 Hifed |

(1) (&), (B), (©), (D). ()
(2)  (A), (D), (©), (B), (E)
(3) (A (O, (D). (B), (E)
4) (O, (A), (D) E), (B)

Options :

212807117813. 1
212807117814.2
212807117815.3
212807117816. 4

Question Number : 120 Question Id : 21280729455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Find the incorrect statement :

(1) Digital India is a programme to improve global interconnectedness

(2) Every exchange in Digital India would incorporate digitisation

(3) Digital India is a barrier to transform India into a knowledge economy
(4) The process of globalisation has given rise to network and media society

Options :

212807117817. 1
212807117818.2
212807117819. 3
212807117820. 4

Question Number : 120 Question Id : 21280729455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T H2H 1 T

(1) fefSea fean dfvas siatamram & GurR w07 #1 FEHA T

(2) Tefsea sfean § v fafmg =t fefsediteto § wfae fean smom

(3) Tefoea 3fean vwra &1 91 i sieferewen # ufiafda & H T = ¥
(4) HUETISROT 1 FRFA A Sead o Hifew gus 91 5= e g

Options : g collegedunias
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212807117817. 1
212807117818.2
212807117819. 3
212807117820. 4

Question Number : 121 Question Id : 21280729456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The group which has not suffered from social inequality and exclusion ?

(1) Dalits
(2) Adivasis
(3) Differently abled
(4) Upper Castes
Options :
212807117821. 1
212807117822. 2

212807117823. 3
212807117824. 4

Question Number : 121 Question Id : 21280729456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

% Hqe e s Sremmar Sl sTgest <91 6 3o ©

(1) zfed

(2) e
(3) fesaisH
(4) S SfaEr

Options :

212807117821. 1
212807117822.2
212807117823. 3
212807117824. 4

Question Number : 122 Question Id : 21280729457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

% collegedunias
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The isolationist debate regarding tribals argued protection from :

(A) Money lenders
(B) Traders

(C) Police

(D) Industry

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2)  (B) and (D) only
(3) (A) and (D) only
(4) (A) and (B) only
Options :

212807117825. 1

212807117826. 2

212807117827. 3
212807117828. 4

Question Number : 122 Question Id : 21280729457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A o IR § UHidarg! ae-faee # fegd Sran 1 feresd = S #

Heari |
(B) eIl 9

qfaw 9§
(D) ETH

= feu 7u famedi § 9 W&l S 1 99 hifad |

(1) 9a@ (A) 3R (©)
(2) (B)aiﬁ(

(3) HI@ (A) 3R (D)
(4) HIA (A) IR (B)

Options :

212807117825. 1
212807117826.2
212807117827. 3
212807117828. 4

Question Number : 123 Question Id : 21280729458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Social inequality and exclusion are social because :
(A) They are about individuals

(B) They are about non economic
(C) They are about economic only

(D) They are about groups
Choose the correct answer from the options given below :

(1) (B and( ) only
(2)  (B) and (C) only
(3) (B)and (A) only
(4) (A)and (C) only
Options :

212807117829. 1

212807117830. 2

212807117831. 3
212807117832. 4

Question Number : 123 Question Id : 21280729458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TSR STEAM 31T 9IS ol TSI AT ST & i -
(A) S Gaie sAfgEt | ¥

(B) a1 Helel T-anifeler hraf %1

(C) 31 HaY shaa i wEl 9 21
(D) S Gaiel HEl 4 1
il feu U foashed § | T& I & 997 i |

(1) e (B) 3R (D)
(2) = (B) 3R ()
(3) W(Bwﬂ?()
(4) e (A) ¥R (C)

Options :

212807117829. 1
212807117830.2
212807117831.3
212807117832. 4

Question Number : 124 Question Id : 21280729459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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The characteristic of a nation-state includes :
(1) Common political institutions and geographical boundary
(2) Common geographical boundary and common language
(3) Common political institutions and single religion
(4) Common geographical boundary and common history
Options :
212807117833, 1
212807117834. 2

212807117835. 3
212807117836. 4

Question Number : 124 Question Id : 21280729459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-7 1 ferdroened # wfoet §

(1) T Tsifdeh eI SR driferss =
(2) e siriiferss HmT S TEE T

(3) TS TSTaeh S iR U o
(4) TTen siifes Him 2R T i

Options :

212807117833. 1
212807117834. 2
212807117835. 3
212807117836. 4

Question Number : 125 Question Id : 21280729460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The reformers in List-1 with their contribution in List-IL

List-I List-11
Social Reformers Contribution
(1) Savitribai Phule () Worked for Upliftment of Dalits
(2) Raja Ram mohan Roy (I)  Worked for Upliftment of Muslim women’s education
(3) Jotiba Phule (IT) Worked for women’s education
(4) Syed Ahmad Khan (IV) Worked for abolishing Sati

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(1V), (O-(1), (D))
(2)  (A)-(IV), (B (I)()()()(IH)
(3)  (A)-(), (B)-(ID), (O)~(1V), (D)-(LL)
(4)  (A)-(D, (B)-1), (O-1V), (D)-(1)

Options :
212807117837. 1
212807117838.2

212807117839. 3
212807117840. 4 collegedunlas
India’s largest Student Review Platform
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Question Number : 125 Question Id : 21280729460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

g - 1% |y g4l - 11 6 fqad sifs)
T - 1 gl - 11
() <fed o Jear o fore s Tk
(1) THe™ Afgensd & S & fae & feam
C) Hifqan Fe (IT1) wfeensd =1 T2 = foag s fom)
(IV) §fd 921 % 3 & foe wri fon
== fqu o faskedi § 9§ A& SR 1 =999 SIS
(1) (A)-(ID), (B)-(IV), (O)-O), (D)-(II)

(2)  (A)-AV), (B)-(1), (©)-(11), (D)-(II)
(3) (A, (B)}-(IN), (O)-(IV), (D)-(II)
(4)  (A)-(10), (B)-(1), (O)-(IV), (D)-(II)
Options :

212807117837. 1
212807117838.2
212807117839. 3
212807117840. 4

Question Number : 126 Question Id : 21280729461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following statements as per their time of occurence in ascending order :
(A) Publication of Sambad Kaumudi by Raja Rammohan Roy

(B) Doordarshan was the only state TV channel

(C) All India Radio acquired Vividh Bharati

(D) Television programme was used to promote rural development in India

(E) Satellite television channels multipled rapidly

Choose the correct answer from the options given below :

1) (A), (C)f (D), (B), (E)

(2 (B) (O, (D), (A), (B)
3)  (A) (B), (D). (©), (E)
(4)  (A). (O, (D), (E), (B)

Options :

212807117841. 1
212807117842.2
212807117843. 3
212807117844. 4

Question Number : 126 Question Id : 21280729461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : culator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 COI Ieged un iag
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frrefeafiad Fort 3 ST B 3 SRR T8 %A § srafer FRT
(A) USTRMHEA T gR €IS shigat Sl Jeh1eH |

(B) TXEEIA U TIE TWIHE AL e o |

(C) it sfean dea 7 fafay wrdt =1 sifeufea foram

(

(

o

D) sTRa H Tty faeser & Heeda & fora Sefifes rfewn w1 seare fehan
E) Heese =al o iaitd § fawar g
== feu U faesredi | 9 W&t 39T 1 T4 Fi)

(1) A (©), (D), (B), (E)
(2)  (B), (©), (D) (A), (E)
(3) (A), (B), (D), (O, (E)
(4) (A (©), (D), (), (B)
Options :

212807117841. 1
212807117842.2
212807117843.3
212807117844. 4

Question Number : 127 Question Id : 21280729462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Information on how many types of disabilities was collected in the ceusus 2011.
(1) 10

(2) 8

3 6

4 9
Options :

212807117845. 1
212807117846. 2
212807117847. 3
212807117848. 4

Question Number : 127 Question Id : 21280729462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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SUET 2011 H foRas WehR okl fashaliTal Haifed =1 Ui anl T off ?

(1) 10
(2) 8
(3) 6
4) 9
Options :

212807117845. 1
212807117846. 2
212807117847. 3
212807117848. 4

Question Number : 128 Question Id : 21280729463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Peasants Movements have been taking place since pre-independent India. Arrange chronologically

from oldest to newest.

(A) Bengal Revolt

(B) Bardoli Satyagraha

(C) Naxal Movement

(D) New Farmer’s Movement
(E) Telengana Movement

Choose the correct answer from the options given below :

(1) (©), (4A), (B), (E), (D)

Options :

212807117849. 1
212807117850. 2
212807117851. 3
212807117852. 4

Question Number : 128 Question Id : 21280729463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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R | T 9§ fREE oTEie B W@ € 1 3% WEHan 9 TeliFan % e § et sifs?

A) s fage

B) dRalel HAwE
BESCECICIGE|
D) Ta-%uF SR

AT ST

- e

(
(
(C
(
(

E

—

= feu o fasedi § 4 W@ ST 1 994 Sifeu .

(1) (©), (A) (B), (E), (D)
(2) (D), (A), (B), (B), (©)
(3) (A), (B), (E), (O), (D)
(4) (A), (B), (C) (D), (B)
Options :

212807117849. 1
212807117850. 2
212807117851. 3
212807117852. 4

Question Number : 129 Question Id : 21280729464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following are true for knowledge economy ?

A) It creates tertiary sector jobs

B) It produces goods that can not be touched

D) Itis dependent of agriculture
E) It is manual labour intensive

(
(
(C) It creates network society
(
(

Choose the correct answer from the options given below :

(1)  (B), (C), (D) only
(2)  (A), (B), (E) only
(3)  (A), (B), (C) only
(4)  (B), (D), (E) only
Options :

212807117853. 1

212807117854. 2

212807117855. 3
212807117856. 4

Question Number : 129 Question Id : 21280729464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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M smenfRa svef srawen & fau frefafed § 9 $R-9 98 €72
(A) THY g &5 i AR H1 g S T

(B) =Ed Twn Wil TuR gl & ol woed =21 femann <1 ke |
(C
(
(

%
3
|
3
i
2

D) % &f¥ 9 smenfid 7
E) 398 OMetg g0 1 stfussar g €1

(1) e (B), (C) ¥R (D)
(2) e (A), (B) R (E)
(3) a (A), (B) M (Q)
(4) e (B), (D) ¥ (E)
Options :

212807117853. 1
212807117854.2
212807117855. 3
212807117856. 4

Question Number : 130 Question Id : 21280729465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What is the important resource required to yield productivity of HYV seeds ?
(1) Land

(2) Water

(3) Fertile Soil

(4) Desert Soil

Options :

212807117857. 1
212807117858. 2
212807117859. 3
212807117860. 4

Question Number : 130 Question Id : 21280729465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

HYV Sl %l UER 3ceehdl & fau wiH-91 8 g8 iy ageyu 22
(1) M

(2) w14

(3) FEUT
(4 VR Qcollegedunias



Options :

212807117857. 1
212807117858.2
212807117859. 3
212807117860. 4

Question Number : 131 Question Id : 21280729466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the incorrect statement about Green Revolution :
(1) Land owners took back land from their tenants and started cultivating directly
(2) The first phase of Green Revolution was in the 1950s and 1960s.
(3) Green Revolution broughtin inequality among rich formers and landless and marginal holders.
(4) Green revolution was introduced in areas that had assured irrigation.
Options :
212807117861. 1
212807117862. 2

212807117863. 3
212807117864. 4

Question Number : 131 Question Id : 21280729466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

&fd sifa & o H e FYF 1 =9 w

(1)  ofi7 wiferei 3 3197 SRRl | SO SHH a1t o of 3R HiY R W Wl HE IE = A |

(2) &R wifd =T 9ge =X 1950 37 1960 T WH T |

(3) eRa wifa = ugyia stiR fRaml oiR yfitda ik diwia fRamT & i sraama & g & & fau
IERIKRIRIT

(4) 7R wifq =i e 37 &5 | g2 oft et fo=ng =1 ersst giawn o |

o isel.

212807117862. 2

212807117863. 3
212807117864. 4

Question Number : 132 Question Id : 21280729467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In land Ceiling Acts, the upper limit does not depend on :
(1) Productivity of land

(2) Surplus land

(3) kind of land

(4) Location of land

Options : collegedunias
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212807117865. 1
212807117866. 2
212807117867. 3
212807117868. 4

Question Number : 132 Question Id : 21280729467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Yy sifreram O sifufel § sod d@im ford frsR = st ?

(1) 4fH = SRR
(2) sfafEa yfa
(3) Y =1 TR
(4) 9fg =i srafefq

Options :

212807117865. 1
212807117866. 2
212807117867. 3
212807117868. 4

Question Number : 133 Question Id : 21280729468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List-I with List-II

List-I

Social Monts
(A) Chipko Movement
(B) Trade Union Movement
(€) Naxal Movement
(D) Anti-price Rise Movement

(1) (A, (B)-IV), (O-0), (D)-(II)

(2)  (A)-IID), (B)-(IV), (O)-(I0), (D)-(D)
(3)  (A)-(IV), (B)-(D), (O)-(11), (D)~(IIT)
(4) (M-, (B)-(IV), (O)-(TI), (D)-(IT)
Options :

212807117869. 1
212807117870. 2
212807117871. 3
212807117872. 4

Agrarian

Ecological
Industrial Worker
Choose the correct answer from the options given below :

Question Number : 133 Question Id : 21280729468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Tell-1 § GAI-11 1 el sifs :
i1 TEAl-11
(ATHTSTeR ) (98)

(A) Tau=l stideH (I) i Hal

(B) < g STicie (I

(C) e SAigeH (IT) arffeerfent
TETE farieft stideH (IV) it SR

== fou v fawed 4 9 Wé 3T H1 999 FH

(1) (A)-(ID), (B)-(IV), (O)-[), (D)-(II)

(2) (A, (B)-(IV), (O-ID), (D)-(I)
(3)  (A)-(V), (B)-(D), (O-(1L), (D)-(I1)
(4)  (A)-0), (B)-(IV), (O)-(1), ( )-(1D)

Options :

212807117869. 1
212807117870. 2
212807117871. 3
212807117872. 4

Question Number : 134 Question Id : 21280729469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who is the author of the book “The making and unmaking of an industrial working class” ?
(1) Jan Breman

(2) Mark Holmstrom

(3) Clark Kerr

(4) Chhaya Datar

Options :

212807117873. 1
212807117874.2
212807117875.3
212807117876. 4

Question Number : 134 Question Id : 21280729469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

g1 AifshT wug sTifET SAfw wA gefigad afd e’ A JEdeh o @ i § 7
(1) =¥ 9HF

(2) e B

(3) oA HQ

(4)
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Options :

212807117873. 1
212807117874.2
212807117875. 3
212807117876. 4

Question Number : 135 Question Id : 21280729470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

In the conversation between Bhrigu and Bharadvaja in the epic Mahabharata, what does Bhrigu
Quote as the identity for difference in Caste ?

(1) Hair colour
(2) Eye colour
(3) Skin colour
(4) Height

Options :

212807117877. 1
212807117878. 2
212807117879. 3
212807117880. 4

Question Number : 135 Question Id : 21280729470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

HEIRA Helehred H 7 2R 9grst & o= Harg § o] A Sfd § siaw § & 91 98 a1 § 7
(1) =Tl 1 &
(2) aiE w
(3) TR
(4) w9
Options :
212807117877 1
212807117878.2

212807117879. 3
212807117880. 4

Question Number : 136 Question Id : 21280729471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Identify the world’s largest MNC in retail market :
(1) Wal Mart Stores

(2) Pepsico

(3) Reliance Industries

(4) Amazon

Options : ~ CO“egEduniag
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212807117881. 1
212807117882.2
212807117883. 3
212807117884. 4

Question Number : 136 Question Id : 21280729471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
el SR H favd i 9o J2i agued SuAl (TH T i) 7
(1) T |9 ¥Ry
(2) UcHieR
(3) Temg swes
(4) SFHSH
Options :

212807117881. 1
212807117882.2
212807117883. 3
212807117884. 4

Question Number : 137 Question Id : 21280729472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

During electoral competition caste is used as a vital factor by politician to get voter with which
process can we relate thin example with ?
(1) Modernisation of Caste
(2) Secularisation of Caste
(3) Politization of Caste
(4) Communalization of Caste
Options :
212807117885. 1
212807117886 2

212807117887. 3
212807117888. 4

Question Number : 137 Question Id : 21280729472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) <fd =1 sngFHeim
(2) wfd &1 gH e
(3) Sifd 1 TSHIfTR
(4) Sfd H HYSETHE

Options :

212807117885. 1
212807117886. 2
212807117887. 3
212807117888. 4

Question Number : 138 Question Id : 21280729473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Sanskritization was coined by :
(1) MLN. Srinivas
(2) Dipankar Gupta

(3) Y. Singh
(4) S. Deshpande
Options :

212807117889. 1
212807117890. 2
212807117891. 3
212807117892. 4

Question Number : 138 Question Id : 21280729473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Hepfaet v fRas J21?

(1) TH. . gifam™

(2) iR T
(3) @, fog
(4) TH. WU

Options :

212807117889. 1
212807117890. 2
212807117891. 3
212807117892. 4

Question Number : 139 Question Id : 21280729474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value

nia:
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|C0mprehension |MCQ

Match the concept with their explanation

List-I List-1I
Concept Explanation
(1) Zamindar system ()  Benami transfer
(2) Raiyatwari system (I)  Radical restructuring of agrarian structure in Kerala
and Bengal
(3) Tenancy abolition and regulation (III) Less burden of taxation mass purposses
(4) Land ceiling (IV) Agricultural production stagnated

Choose the correct answer from the options given below :

(1) (A4)-(1D, (B)-(1), (O-(1V), (D)-(I)
(2)  (A)-V), (B)(1), (C)-(), (D)-(II)
(3)  (A)-(), (B)-(ID), (O, (D)-(IV)
(4)  (A)-IV), (B)-(ID), (O)-(I1), (D)-I)
Options :

212807117893. 1
212807117894. 2
212807117895. 3
212807117896. 4

Question Number : 139 Question Id : 21280729474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tell-1 § GAI-11 1 el sifs :
T A1
( () ST ST
( () % iR srer § i < o1 g o
(C) SRR 39e iR fafrema (III) =Y 1 %HH 9R; i iy
( (IV) fY 3cET § 2809
e fau 1w faskedi H 9 W& SW 1 =494 HIfST

(1) (A)-(), (B)-(I), (O-(1V), (D)-(II)
(2)  (A)-(IV), (B)-(II), (C)-(I), (D)-(IIL)
(3)  (A)-(D), (B)-(IN), (O, (D)-(IV)
(4)  (A)-(1V), (B)-(ID), (CO)-(IT), (D)-(T)
Options :

212807117893. 1
212807117894. 2
212807117895. 3
212807117896. 4

Question Number : 140 Question Id : 21280729475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details : COI Ieged un iag
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Key Value

Comprehension MCQ

The information disclosure in India was restricted by :
(1) Official Secrets Act 1923
(2) Official Non Disclosure Act 1923
(3) Protection of Government Documents Act 1923
(4) Official Secretive Act 1923
Options :
212807117897. 1
212807117898. 2

212807117899. 3
212807117900. 4

Question Number : 140 Question Id : 21280729475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

I | = TRl i forer gra fraf=a fran o 2
(1) SRR TarErar sifaf=m, 1923

(2) TR TR gEHfewT, 1923

(3) HERRI TEES HAfgtE, 1923

(4) wE sAfufrEm, 1923

Options :

212807117897. 1
212807117898. 2
212807117899. 3
212807117900. 4

Sub-Section Number : 2
Sub-Section Id : 2128072136
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 141 Question Id : 21280729476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Read the passage and answer the following question :

Globalisation involves a stretching of social and economic relationships throughout the world.
This becomes possible through the introduction of certain policies. This process is broadly known
as liberalisation in India. Liberalisation technically involves steady removal of rules that regulated
trade and finance regulations. Once these are done, it constitutes economic reforms. Besides this
liberalisation as a process also involves taking loans from international institutions such as
International Monetary Fund (IMF). It is important to mention that certain condition are imposed
before loans are sanctioned to a country, which thereby leads to introduction of new economic
measures. These conditions constitute the Structural Adjustments. These adjustments usually
mean cuts in state expenditure on social sector.

Globalisation involves :

(1) Opening of Borders for market

(2) Decreasing social relations globally

(3) Shrinking of Borders

(4) Increasing the government control on markets

Options :

212807117901. 1
212807117902. 2
212807117903. 3
212807117904. 4

Question Number : 141 Question Id : 21280729476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

3 TENYT k! Ufed 3R et fed T uvs o1 S i)

Afvasrtor § Tmfsr o) nfefs Trerei =1 g fava § = s S ¥ 1 Fo e ® g &
IO g HEE B U6 S | A H 39 9iEE Wl Seriehul & AW W S S ¥ | dAR d W SR |
of1- Y 37 fremi = g2 wfer € < =R $iR fam sgereen fafaaml =61 feifom #5300 €1 T SR T@ 2R W
30 arfefer Yo =kt A fEan San € | 56 STaren, Wik & &9 § Seriar H Sfauisia geiehy (31, UH.UF. )
S SiaisE el & 0 o e © | 9 Soeid R Heeyul & foh et 391 31 31 Tefiehd e 9 et
F I T I & R aete ¥ Fe 78 onfYe Sum i B €1 59 il § e gemEieE R S ¥
T HETESHI ol F9Te | WIS &7 T 9L @9 § ®lfadi sl Sl ¢ |
fygeo § it § -

(1) o= % foa dimsii = e

(2) dfvas wR R g daui § Hut
(3) Hridl &1 HEEa

(4) @E W HEER FEEm H gig
s 17901,

212807117902. 2

212807117903. 3
212807117904. 4
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Question Number : 142 Question Id : 21280729477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Read the passage and answer the following question :

Globalisation involves a stretching of social and economic relationships throughout the world.
This becomes possible through the introduction of certain policies. This process is broadly known
as liberalisation in India. Liberalisation technically involves steady removal of rules that regulated
trade and finance regulations. Once these are done, it constitutes economic reforms. Besides this
liberalisation as a process also involves taking loans from international institutions such as
International Monetary Fund (IMF). It is important to mention that certain condition are imposed
before loans are sanctioned to a country, which thereby leads to introduction of new economic

measures. These conditions constitute the Structural Adjustments. These adjustments usually
mean cuts in state expenditure on social sector.

Structural Adjustments lead to :

(1) State expenditure rise in Health Sector

(2) State expenditure cut in Health Sector

(3) No change in state expenditure in Health Sector
(4) State expenditure rise in Education Sector

Options :

212807117905. 1
212807117906. 2
212807117907. 3
212807117908. 4

Question Number : 142 Question Id : 21280729477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

39 T i ufed 3R e fed w uew = s i)

Afeaern § wmifas iR snfefes g o X fava § e a9 s 1 Al F guRy &
U IE TG U1 € | TG H 39 UfRan ot SR 3 AW Y ST Sl € | dehei R R T SerieRt |
- +fY =7 Fradi o6 e wifer @ S saar $iR fam syereen fafaadi 1 fifa € w st dm w
39 afrfefer GUri 1 AT e STl € | $8ek STere, Uishal o &9 H Gl H AU Heishiy (176, U4, UF. )
S sauisdia g & 3o o wnfiet ¥ 1 3 Soorg T Teequl @ o fardh 3w 61 sur el e & v
F IR oI S § et acte § 9 T3 enfids Surm % 29 € 1 39 vl | gier geeEsE R o €
T GUETSH] i gig 9 THTieeh &5 I T T H htfadi i Sl g |
BIENTd FHREISHI St o § -

(1) Torer &3 9 aehit w4 § gfg €t 21

(2) TEReT &3 H TR T H FHIrd Gl ¢ |

(3) TaeH &5 H SRl &35 H i3 e 78l 2|
(4) Toren &= & e =< H gfg 9t 21

Options : .
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212807117905. 1
212807117906. 2
212807117907. 3
212807117908. 4

Question Number : 143 Question Id : 21280729478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

Compl

Read the passage and answer the following question :

Globalisation involves a stretching of social and economic relationships throughout the world.
This becomes possible through the introduction of certain policies. This process is broadly known
as liberalisation in India. Liberalisation technically involves steady removal of rules that regulated
trade and finance regulations. Once these are done, it constitutes economic reforms. Besides this
liberalisation as a process also involves taking loans from international institutions such as
International Monetary Fund (IMF). It is important to mention that certain condition are imposed
before loans are sanctioned to a country, which thereby leads to introduction of new economic
measures. These conditions constitute the Structural Adjustments. These adjustments usually

mean cuts in state expenditure on social sector.

Economic reforms include :
(1) Regulation of trade only
(2) Regulation of finance only

(3) Regulation of trade and finance

(4) No regulation either for finance or trade

Options :

212807117909. 1
212807117910.2
212807117911.3
212807117912. 4

Question Number : 143 Question Id : 21280729478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

Compl
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W TR i ufed i e fed u yee o S it

Afvererzor H wrifser o) snfefer grari &1 Q¢ fova § omuss s/ S €1 Fo Afad % guny &
THIU T8 TRIE B U § | 9 H 39wl @ SRl & AW 9 S Sl § | dhE 9r W SR §
effY- 1Y 37 7ol = g2 wnfaer & S =amar 3R o orereen fafoeml =1 ffm @ €1 o IR T ER ™
78 ayifefer Qe o AT fean < & | 9 eTeen, Ui o w9 H SeRie H ST qEiehy (1. TH. U, )
S ST e & 07 o e © | 9 Sooid T Heeyul § TR foret <91 31 301 Tefighd A 8 wed
F I TRl Sl § fSeht aeie 9 Fw 78 enfefes 3ura e 2 € 1 39 vl B T aeeisH R 9 ¥ )
3 GUETSHI i deie 9 Qe &9 9 OhE T § Fltadi i Sl © |

sfefen Ui # e ® -

(1) ad =R 1 faf=ea

(2) had faa @1 faf=aa

(3) =R 3R fag =1 fafamm

(4) Toa =1 =R % foag &g fafamE

Options :

212807117909. 1
212807117910.2
212807117911. 3
212807117912. 4

Question Number : 144 Question Id : 21280729479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

Read the passage and answer the following question :

Globalisation involves a stretching of social and economic relationships throughout the world.
This becomes possible through the introduction of certain policies. This process is broadly known
as liberalisation in India. Liberalisation technically involves steady removal of rules that regulated
trade and finance regulations. Once these are done, it constitutes economic reforms. Besides this
liberalisation as a process also involves taking loans from international institutions such as
International Monetary Fund (IMF). It is important to mention that certain condition are imposed
before loans are sanctioned to a country, which thereby leads to introduction of new economic
measures. These conditions constitute the Structural Adjustments. These adjustments usually
mean cufs in state expenditure on social sector.

Which of the following does not happen under Structural Adjustment ?
(1) Introduction of certain policies
(2) Economic reforms
(3) Taking loans from IMF
(4) Increasing state expenditure in social sector
Options :
212807117913. 1
212807117914. 2

212807117915. 3
212807117916. 4
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Question Number : 144 Question Id : 21280729479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

30 vt ot ufed o e fed wu wew v S s

Afvaetor & e iR onfde arerdi o1 R fava § =nue a9 mn S €| 9 Aifad F JaRy F
HIU g TG & I ® | 9 H 29 Uik oSSl & A § S Sl § | Gl R T S °
oY 7 Frardi s ger onfae & S =R @i fag sraeen fafqadi o) fefn +@ € 1w TR T dn ®
Y TfeleR YR &1 AT 51 Sl 8 | 3Heh AT, Yishal & €9 H ISR H AUt ggiehid (37, TH.UF. )
S SRS T | 00 o e § 1 718 St 1 Heeyul & foh ot 291 61 01 wefiehd 3 | ded
F I TR STl € fSeRt asie | $ 73 enfefes 3 e 9 €1 39 Il § T qeeisH R S # )
T GUESTH] i Felg T GrTietes &5 W 3] B H Hefadl i Sl © |
SN GHESH! & Sdaita fefafea 8 & s afeq 7€ dmar?
(1) FB Aifadi &1 gy
(2) sfeies R
(3) SIE.TH.UE. 9 B oAl
(4) 9ISk & H SRRl & § gl
PRI 17913, 1
212807117914. 2

212807117915. 3
212807117916. 4

Question Number : 145 Question Id : 21280729480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

Read the passage and answer the following question :

Globalisation involves a stretching of social and economic relationships throughout the world.
This becomes possible through the introduction of certain policies. This process is broadly known
as liberalisation in India. Liberalisation technically involves steady removal of rules that regulated
trade and finance regulations. Once these are done, it constitutes economic reforms. Besides this
liberalisation as a process also involves taking loans from international institutions such as
International Monetary Fund (IMF). It is important to mention that certain condition are imposed
before loans are sanctioned to a country, which thereby leads to introduction of new economic
measures. These conditions constitute the Structural Adjustments. These adjustments usually
mean cufs in state expenditure on social sector.

Liberalisation was introduced in India in :

(1) 1960
(2) 1970
(3) 1980
(4) 1990

Options : .
P gcollegedumas
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212807117917. 1
212807117918.2
212807117919. 3
212807117920. 4

Question Number : 145 Question Id : 21280729480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

W TR i ufed i e fed u yee o S it
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- +fY 37 Fradi =61 g wifer € S =R iR fag srareen fafaadi 1 frifie @ € | v SR T dn
39 snffer Qe a1 = foon an ¥ | 35k o7etman, Uik & 0 § SqRIe0 H sTaisi gih (o7 th.UF. )
S SR T & o1 o i ¥ 1 718 Seoie S Heeyul § TR fadt 291 1 0 wefiehd A 9 TR
F I T I & R aete ¥ Fe T8 onfYe Surm i 2 € 1 59 il § T gemEieE R S ¥

3 QUETSH] ol gl 9 T & 9 i @9 4 dhalfadi sl Il & |
TRd H ISR i JEAT Fel g2 off ?

(1) 1960
(2) 1970
(3) 1980
(4) 1990

Options :

212807117917. 1
212807117918.2
212807117919. 3
212807117920. 4

Sub-Section Number : 3
Sub-Section Id : 2128072137
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 146 Question Id : 21280729481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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Read the passage and answer the following question :

The scope of sociological study is extremely wide. It can focus its analysis of interactions
between individuals such as that of a shopkeeper with a customer, between teachers and students,
between two friends or family members. It can likewise focus on national issues such as
unemployment or caste conflict or the effect of state policies on forest rights of the tribal population
or rural indebtedness. Or examine global social processes such as : the impact of new flexible labour
regulations on the working class; or that of the electronic media on the young; or the entry of
foreign universities on the education system of the country. What defines the discipline of sociology is
therefore not just what it studies (i.e. family or trade unions or villages) but how it studies a chosen field.

How does sociology study society ?
(1) It only studies the social or cultural consequences of Globalization
(2) It only focuses of National issues

(3) It uses the sociological imagination to bring into focus the connections between individuals
and society at were and actual level

(4) The main aspect of sociology to study the technological interface between individuals and
society

Options :

212807117921. 1
212807117922. 2
212807117923. 3
212807117924. 4

Question Number : 146 Question Id : 21280729481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2
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Options :

212807117921. 1
212807117922. 2
212807117923. 3

212807117924. 4
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Question Number : 147 Question Id : 21280729482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Read the passage and answer the following question :

The scope of sociological study is extremely wide. It can focus its analysis of interactions
between individuals such as that of a shopkeeper with a customer, between teachers and students,
between two friends or family members. It can likewise focus on national issues such as
unemployment or caste conflict or the effect of state policies on forest rights of the tribal population
or rural indebtedness. Or examine global social processes such as : the impact of new flexible labour
regulations on the working class; or that of the electronic media on the young; or the entry of
foreign universities on the education system of the country. What defines the discipline of sociology is
therefore not just what it studies (i.e. family or trade unions or villages) but how it studies a chosen field.

Sociological study of globalisation will involve the :
(1) study of changes in personal life as new jobs energy
(2) study of the relationship between public policies and individual/group life
(3) study of relationship between countries
(4) study of technological change
Options :
212807117925. 1
212807117926. 2

212807117927. 3
212807117928. 4

Question Number : 147 Question Id : 21280729482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2
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Options :
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212807117926. 2
212807117927. 3
212807117928. 4

Question Number : 148 Question Id : 21280729483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension
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Read the passage and answer the following question :

The scope of sociological study is extremely wide. It can focus its analysis of interactions
between individuals such as that of a shopkeeper with a customer, between teachers and students,
between two friends or family members. It can likewise focus on national issues such as
unemployment or caste conflict or the effect of state policies on forest rights of the tribal population
or rural indebtedness. Or examine global social processes such as : the impact of new flexible labour
regulations on the working class; or that of the electronic media on the young; or the entry of
foreign universities on the education system of the country. What defines the discipline of sociology is
therefore not just what it studies (i.e. family or trade unions or villages) but how it studies a chosen field.

A study of village does not only mean the study of different social group but, it also includes

(1) the study of neighbouring villages
(2) the consequences of the work done by people

(3) study of the society in its entirety along with studying its link with outside world

(4) Knowing the different stories and fables of the plane

Options :

212807117929. 1
212807117930. 2
212807117931. 3
212807117932. 4

Question Number : 148 Question Id : 21280729483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

Comp2

-

-

collegedunias

India’s largest Student Review Platform



3 TENVT skl Ufed R et e T uvs w1 S dfea)

GrIsieh S1E7 %1 S 9gd ford © | 98 e $iR Ueehs, sreamgeh] oiR o, &1 sl 1 aftei &
o= w1 erafwansti % favemm W Hfgd & gwa T S IER, SUSR A Sifa d@ed ergen SHenfa
SEE % AR I HERT Afl STeren e JORREdl % UNIE S T qE W SHfEd € T €1
ST FHEHN o G 7Y Tl g1 fafafidt; Jansii | seaeiten Hifean & 99mE; o1 <9 1 fren gomet §
fasft favafarmerl & vaw St wmfses whraell 1 Sig = Tl © 370: Tareer faws s aftsm a8
el & Formen =g et e ® (1ufq ufer =1 2 gfem = wia) afess g8 fordt gafia fikee 1 e1erem
FY Fa |, 39 W AR )

g & 1o § 1 Fae fafies grfses aggl FeregeE 2 § afes TaH off e 7 |
(1) ST TS % Tl o STe7H |

(2) <rl gr foRd T kTt & afony |

(3) THTS Tl TEIA 1 A 3R Al g F e Hay @ srer

(4) TIM & = H y=fad Fer IR wensii 1 S |

Options :

212807117929. 1
212807117930. 2
212807117931. 3
212807117932. 4

Question Number : 149 Question Id : 21280729484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Read the passage and answer the following question :

The scope of sociological study is extremely wide. It can focus its analysis of interactions
between individuals such as that of a shopkeeper with a customer, between teachers and students,
between two friends or family members. It can likewise focus on national issues such as
unemployment or caste conflict or the effect of state policies on forest rights of the tribal population
or rural indebtedness. Or examine global social processes such as : the impact of new flexible labour
regulations on the working class; or that of the electronic media on the young; or the entry of
foreign universities on the education system of the country. What defines the discipline of sociology is
therefore not just what it studies (i.e. family or trade unions or villages) but how it studies a chosen field.

The effect globalisation in India can be identified as :

(1) Opening up of new opportunities and loss of livelihood
(2) Import of raw materials

(3) Rise of NGOs

(4) Change in Technology
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Read the passage and answer the following question :

The scope of sociological study is extremely wide. It can focus its analysis of interactions
between individuals such as that of a shopkeeper with a customer, between teachers and students,
between two friends or family members. It can likewise focus on national issues such as
unemployment or caste conflict or the effect of state policies on forest rights of the tribal population
or rural indebtedness. Or examine global social processes such as : the impact of new flexible labour
regulations on the working class; or that of the electronic media on the young; or the entry of
foreign universities on the education system of the country. What defines the discipline of sociology is
therefore not just what it studies (i.e. family or trade unions or villages) but how it studies a chosen field.

Which among these is not impacted by globalisation ?
(1) Impact of global market on farmers

(2) Employment chances of middle class

(3) Changes in leisure time of young people

(4) Hierarchical organisation of caste group
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